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DIPLOMA IN MEAT TECHNOLOGY (DMT) 

Term-End Examination 

June, 2013 

BPVI-027 : UTILIZATION OF ANIMAL 
BY-PRODUCTS  

Maximum Marks : 50 

Time : 2 hours 
Note : Attempt any five questions. Question No. 1 is 

compulsory. All questions carry equal marks. 

1. 	
Answer the following questions (any ten) 

	10%1=10 

(a) 
Define animal byproducts. 

(b) 
Name two inedible animal byproducts. 

(c) Write the full form of COD. 

(d) What is meant by lard ? 

(e) Define tanning. 

(f) What is green bone ? 

(g) 
Write the use of pancreas as by-product. 

(h) What is Weasand ? 

(i) 
What is meant by crackling ? 

(j) 
Name two hatchery wastes. 

(k) 
Write the source of gelatin. 

(1) What do you mean by compost ? 

2. 	
(a) What are the benefits of utilization of animal 

by-products ? 

(b) 
Classify animal by-products. 

(c) 
List the by-products of poultry industry. 
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3. 

4. 

(a)  

(b)  

(a) 

Describe the procedure of conversion of skin 
to leather. 

Explain the steps of casing preparation. 

List 	various 	sections 	of 	by-product 
processing plant. 

5 

5 

3 

(b) 
What will you do for deodourisation in a 

	3 
by-product processing plant ? 

(c) 
Differentiate between dry and wet 

	4 rendering. 

5. 	
(a) How bone meal is processed from bones ? 
(b) 

Give the flow chart for feather meal 
preparation. 

(c) 
What is the difference between green bone 
and desert bone ? 

6. 	
(a) Write about the sources of wastes from a 

 slaughter-house. 	 4  
(b) 

Write a note on compost making by stack 
	3 method. 

(c) 
Write the uses of blood in various industries. 

	3 

7. 	
(a) Why effluents from a slaughter-house should 

	3 be treated properly ? 

(b) Describe briefly the treatments of effluents 
 

arising from a slaughter-house. 	
7 
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8. 	Write short notes on the following (any four) : 4x21/2=10 

(a) Rendering 

(b) Blood meal 

(c) Biogas 

(d) Preservation of hide and skin 

(e) Neat's foot oil 

BPVI-027 	 3 	 P.T.O. 



I

4-.Th.A.31-r1.-027 

1:67 ail 	r i ch 	81-(1)4-i1 Ct.1.t. 

	rillsR1T 

•11-1, 2013 

-a-111-d13-TTI.-027 : 4% 31:1-301T-41 	ZERItTT 

FP:17 : 2 	 37faIW-dri 	:  50  

*2" : 	'rea TR-qY drH ufkl I VF.1 	31f5-dTe el 

77 9-ft 317-qY 	ogil el 

1. 	 -5179 	aril 	 : 	10x1=10 

(a) 74 	41(4-111 en) trfolf-Em 	I 
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2. (a) 5 1:17j 31-■ cyq .-kTrsiTtri 	c1t-T cHi 

(b) tRI 	ch) qn-Tht-ff 	I 2 

(c) TqTa3 	T 	6,11c-yqi chi 	 I 3 

3. (a) 5 "q11-  ch) 	14' Li 	ci 	ct;) fa-fq- -W1 

(b) 5 t-FTI'Tr f147 	TT:q ch Tcrtztlf---47 

4. (a) 3 -51#- Eb7717474 -  1-1.1c4-1K 	 3T-TiTit c 
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(c) 3  TZF 	 afff-{ ch1 	I 4 

5. (a) 4 Tflt 	-ckui 	 f*--zif 

\31111 	? 

(b) 4) 	1717 	--T4 chi -5rqm- 	q'ir\sR I 4 

(c) 1,:i7EFTF-Fit'3f-d-TTErTa -9-r1 2 

6. (a) .17il-M -41 3t-W 31-71-F0 	014 -A' fffft171 

T 

4 

(b) (*) f-a-fq 	q9-r4 ITT .41e. ffff-a7 I 3 

(c) f-afqq- 	 t 	f- f757I 3 
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7. (a) 	 qtR;irQ wr 	 Tf' f9crai 	3 
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8. '4 rile. fFtR (ft-tWITI17) : 

(a) yRT c4.)kur 

(b)  

(c) q1z41174 

(d) 	 (ter) -Erftwur 

(e) Tz 31TI  

4x21/2=10 
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